

Symmetric identities for twisted Changhee polynomials associated with p -adic integral on \mathbb{Z}_p

Jin-Woo Park

*Department of Mathematics Education,
Daegu University, Gyeongsan-si,
Kyungsangbukdo, 38453, Republic of Korea.*

Sung-Soo Pyo

*Department of Mathematics Education,
Silla University, Busan, 46958, Republic of Korea.*

Jongkyum Kwon¹

*Department of Mathematics Education and RINS,
Gyeongsang National University,
Jinju, Gyeongsangnamdo, 52828, Republic of Korea.*

Abstract

In this paper, we investigate some new and interesting symmetric identities for the twisted Changhee polynomials associated with fermionic p -adic invariant integral on \mathbb{Z}_p .

AMS subject classification: 11B68, 11S40, 11S80.

Keywords: Changhee polynomials, twisted Changhee polynomials, fermionic p -adic integral.

¹Corresponding author.

1. Introduction

For given odd prime number p , \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic rational integer, the field of p -adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p , respectively. The p -adic norm $|\cdot|_p$ is normally defined by $|\cdot|_p = \frac{1}{p}$.

The *fermionic p -adic integral on \mathbb{Z}_p* is defined by Kim to be

$$I_{-1}(f) = \int_{\mathbb{Z}_p} f(x) du_{-1}(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x)(-1)^x, \quad (\text{see [1-4,6,15,17,18]}), \quad (1.1)$$

where $f(x)$ is a continuous functions on \mathbb{Z}_p .

From (1.1), we have

$$I_{-1}(f_1) + I_{-1}(f) = 2f(0), \quad (\text{see [1-4,6,15,17,18]}), \quad (1.2)$$

where $f_1(x) = f(x+1)$.

It is not difficult to show that

$$\int_{\mathbb{Z}_p} f_n(x) du_{-1}(x) + \int_{\mathbb{Z}_p} f(x) du_{-1}(x) = 2 \sum_{l=0}^{n-1} (-1)^l f(l), \quad (\text{see [16]}) \quad (1.3)$$

where $f_n(x) = f(x+n)$ and $n \equiv 1 \pmod{2}$.

The Euler polynomials are defined by the generating function to be

$$\frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see [1,2,5,6,8,9,10,11,16]}). \quad (1.4)$$

When $x = 0$, $E_n = E_n(0)$, ($n \geq 0$) are called *Euler numbers*.

By (1.2), the Witt's formula for Euler polynomials is given by

$$\int_{\mathbb{Z}_p} e^{(x+y)t} du_{-1}(y) = \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}. \quad (1.5)$$

By (1.5), we note that

$$\int_{\mathbb{Z}_p} (x+y)^n du_{-1}(y) = E_n(x), \quad (n \geq 0), \quad (\text{see [1,2,6,10]}). \quad (1.6)$$

The *Stirling number of the first kind* is defined as follows:

$$(x)_0 = 1, \quad (x)_n = x(x-1) \cdots (x-n+1) = \sum_{l=0}^n S_1(n, l) x^l, \quad (n \geq 1), \quad (\text{see [13,14,15]}). \quad (1.7)$$

The *Stirling number of the second kind* is defined by the generating function to be

$$\frac{1}{n!}(e^t - 1)^m = \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!}, \quad (\text{see [13,14,15]}). \quad (1.8)$$

The λ -*Changhee polynomials* are defined by the generating function to be

$$\frac{2}{(1+t)^\lambda + 1} (1+t)^{\lambda x} = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [13]}). \quad (1.9)$$

When $x = 0$, $Ch_{n,\lambda} = Ch_{n,\lambda}(0)$ are called Changhee numbers.

From (1.2) and (1.9), we have

$$\int_{\mathbb{Z}_p} (1+t)^{\lambda(x+y)} du_{-1}(y) = \frac{2}{(1+t)^\lambda + 1} (1+t)^{\lambda x} = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}. \quad (1.10)$$

Thus, by (1.10), we easily get

$$Ch_{n,\lambda}(x) = \int_{\mathbb{Z}_p} (\lambda x + \lambda y)_n du_{-1}(y), \quad n \geq 0. \quad (1.11)$$

From (1.11) and (1.7), we note that

$$\begin{aligned} Ch_{n,\lambda}(x) &= \sum_{l=0}^n S_1(n, l) \lambda^l \int_{\mathbb{Z}_p} (x+y)^l du_{-1}(y) \\ &= \sum_{l=0}^n S_1(n, l) \lambda^l E_l(x), \quad (n \geq 0). \end{aligned} \quad (1.12)$$

Recently, some authors have studies generalization of Changhee polynomials arising from p -adic integral on \mathbb{Z}_p , and investigated the properties of Changhee numbers and polynomials (see [3,4,12-15,17,18]). In this paper, we give some explicit and new symmetric identities for twisted Changhee polynomials arising from the fermionic intergal on \mathbb{Z}_p .

2. Symmetric identities for twisted Changhee polynomials

For $n \in \mathbb{N}$, let T_p be the p -adic locally constant space defined by

$$T_p = \bigcup_{n \geq 1} C_{p^n} = \lim_{n \rightarrow \infty} C_{p^n},$$

where $C_{p^n} = \{\omega | \omega^{p^n} = 1\}$ is the cyclic group of order p^n .

For $\varepsilon \in T_p$ and $t \in \mathbb{C}_p$ with $|t|_p < p^{-\frac{1}{p-1}}$, the *twisted Changhee polynomials* are defined as

$$\left(\frac{2}{(1 + \varepsilon t)^\lambda + 1} \right) (1 + \varepsilon t)^{\lambda x} = \sum_{n=0}^{\infty} Ch_{n,\lambda,\varepsilon}(x) \frac{t^n}{n!}, \quad (\text{see [15]}). \quad (2.1)$$

When $x = 0$, $Ch_{n,\lambda,\varepsilon} = Ch_{n,\lambda,\varepsilon}(0)$ are called the *twisted Changhee numbers*.

Let us assume that $n \in \mathbb{N}$ with $n \equiv 1 \pmod{2}$ in this section. From (1.3), we have

$$\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{\lambda x + \lambda n} d\mu_{-1}(x) + \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{\lambda x} d\mu_{-1}(x) = 2 \sum_{l=0}^{n-1} (-1)^l (1 + \varepsilon t)^{\lambda l}. \quad (2.2)$$

Thus, by (2.2), we get

$$\begin{aligned} Ch_{n,\lambda,\varepsilon}(n) + Ch_{m,\lambda,\varepsilon} &= 2 \sum_{l=0}^{n-1} (-1)^l \sum_{k=0}^m \lambda^k l^k S_1(m, k) \varepsilon^n \\ &= 2 \sum_{k=0}^m \lambda^k S_1(m, k) C_k(n-1) \varepsilon^n, \end{aligned} \quad (2.3)$$

where $C_k(n-1) = \sum_{l=0}^{n-1} (-1)^l l^k$. From (2.3), we can derive the following integral equation:

$$\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{\lambda x + \lambda n} d\mu_{-1}(x) + \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{\lambda x} d\mu_{-1}(x) = \frac{2 \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{\lambda x} d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{\lambda n x} d\mu_{-1}(x)}. \quad (2.4)$$

It is easy to show that

$$\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{nx} d\mu_{-1}(x) = \frac{2}{(1 + \varepsilon t)^n + 1}, \quad (n \in \mathbb{N} \text{ with } n \equiv 1 \pmod{2}) \quad (2.5)$$

By using above equations, we obtain the following theorems.

Theorem 2.1. Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. Then we have

$$\begin{aligned} &\sum_{i=0}^n \sum_{m=0}^{n-i} \binom{n}{i} Ch_{i,w_1}(w_2 x) w_2^m S_1(n-i, m) C_m(w_1 - 1) \varepsilon^{n-i} \\ &= \sum_{i=0}^n \sum_{m=0}^{n-i} \binom{n}{i} Ch_{i,w_2}(w_1 x) w_1^m S_1(n-i, m) C_m(w_2 - 1) \varepsilon^{n-i}. \end{aligned}$$

where $n \in \mathbb{N} \cup \{0\}$.

Theorem 2.2. For $n \geq 0$, we have

$$Ch_{n,\lambda,\varepsilon}(x) = \sum_{k=0}^n \sum_{l=0}^k (x)_l \lambda^{k-l} S_1(k, l) Ch_{n-l,\lambda,\varepsilon} \varepsilon^{n-l}.$$

Theorem 2.3. For $n \geq 0$, we have

$$Ch_{n,\lambda,\varepsilon}(x) = \sum_{m=0}^n Ch_{m,\varepsilon}(x) \lambda^{n-m} S_1(n, m).$$

Theorem 2.4. For $n \geq 0$, $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$, we have

$$\sum_{l=0}^{w_1-1} (-1)^l Ch_{n,w_1,\varepsilon}(w_2x + \frac{w_2}{w_1}l) = \sum_{l=0}^{w_2-1} (-1)^l Ch_{n,w_2,\varepsilon}(w_1x + \frac{w_1}{w_2}l).$$

Theorem 2.5. For $n \geq 0$, $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$, we have

$$\sum_{l=0}^{w_1-1} \sum_{k=0}^n (-1)^l S_1(n, k) w_1^k E_k(w_2x + \frac{w_2}{w_1}l) = \sum_{l=0}^{w_2-1} \sum_{k=0}^n (-1)^l S_1(n, k) w_2^k E_k(w_1x + \frac{w_1}{w_2}l).$$

3. The proofs of theorems

Let $w_1, w_2 \in \mathbb{N}$ be odd numbers. From the fermionic p -adic integral on \mathbb{Z}_p , we get

$$\frac{\int_{\mathbb{Z}_p} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1x_1 + w_2x_2} d\mu_{-1}(x_1) d\mu_{-1}(x_2)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1w_2x} d\mu_{-1}(x)} = \frac{2(1 + (1 + \varepsilon t)^{w_1w_2})}{((1 + \varepsilon t)^{w_1} + 1)((1 + \varepsilon t)^{w_2} + 1)}. \quad (3.1)$$

Now, we consider the following fermionic p -adic integral on \mathbb{Z}_p associated with twisted Changhee polynomials

$$\begin{aligned} & \frac{\int_{\mathbb{Z}_p} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1x_1 + w_2x_2 + w_1w_2x} d\mu_{-1}(x_1) d\mu_{-1}(x_2)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1w_2x} d\mu_{-1}(x)} \\ &= \frac{2(1 + \varepsilon t)^{w_1w_2x} (1 + (1 + \varepsilon t)^{w_1w_2})}{((1 + \varepsilon t)^{w_1} + 1)((1 + \varepsilon t)^{w_2} + 1)}. \end{aligned} \quad (3.2)$$

Now, we observe that

$$\begin{aligned}
\frac{2 \int_{\mathbb{Z}_p} (1 + \varepsilon t)^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 x} d\mu_{-1}(x)} &= 2 \sum_{l=0}^{w_1-1} (-1)^l (1 + \varepsilon t)^l \\
&= 2 \sum_{k=0}^{\infty} \left(\sum_{k=0}^{w_1-1} (-1)^l \sum_{m=0}^k l^m S_1(k, m) \right) \frac{\varepsilon^k t^k}{k!} \\
&= 2 \sum_{k=0}^{\infty} \left(\sum_{m=0}^k S_1(k, m) \sum_{l=0}^{w_1-1} (-1)^l l^m \right) \frac{\varepsilon^k t^k}{k!} \\
&= 2 \sum_{k=0}^{\infty} \left(\sum_{m=0}^k S_1(k, m) C_m(w_1 - 1) \right) \frac{\varepsilon^k t^k}{k!}.
\end{aligned} \tag{3.3}$$

From (3.2) and (3.3), we have

$$\begin{aligned}
I &= \left(\frac{1}{2} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1(x_1+w_2x)} d\mu_{-1}(x_1) \right) \left(\frac{2 \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2x_2} d\mu_{-1}(x_2)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1w_2x} d\mu_{-1}(x)} \right) \\
&= \frac{1}{2} \left(\sum_{i=0}^{\infty} Ch_{i,w_1,\varepsilon}(w_2x) \frac{t^i}{i!} \right) \left(2 \sum_{l=0}^{w_1-1} (1 + \varepsilon t)^{w_2l} (-1)^l \right) \\
&= \frac{1}{2} \left(\sum_{i=0}^{\infty} Ch_{i,w_1,\varepsilon}(w_2x) \frac{t^i}{i!} \right) \left(2 \sum_{k=0}^{\infty} \sum_{m=0}^k w_2^m S_1(k, w) C_m(w_1 - 1) \right) \frac{\varepsilon^k t^k}{k!} \\
&= \sum_{n=0}^{\infty} \left\{ \sum_{i=0}^n \binom{n}{i} Ch_{i,w_1}(w_2x) \sum_{m=0}^{n-i} w_2^m S_1(n-i, m) C_m(w_1 - 1) \right\} \frac{\varepsilon^{n-i} t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left\{ \sum_{i=0}^n \sum_{m=0}^{n-i} \binom{n}{i} Ch_{i,w_1}(w_2x) w_2^m S_1(n-i, m) C_m(w_1 - 1) \right\} \frac{\varepsilon^{n-i} t^n}{n!}.
\end{aligned} \tag{3.4}$$

On the other hand,

$$\begin{aligned}
I &= \left(\frac{1}{2} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2(x_2+w_1x)} d\mu_{-1}(x_2) \right) \left(\frac{2 \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1x_1} d\mu_{-1}(x_1)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1w_2x} d\mu_{-1}(x)} \right) \\
&= \frac{1}{2} \left(\sum_{i=0}^{\infty} Ch_{i,w_2,\varepsilon}(w_1x) \frac{t^i}{i!} \right) \left(2 \sum_{l=0}^{w_2-1} (1 + \varepsilon t)^{w_1l} (-1)^l \right) \\
&= \sum_{n=0}^{\infty} \left\{ \sum_{i=0}^n \sum_{m=0}^{n-i} \binom{n}{i} Ch_{i,w_2,\varepsilon}(w_1x) w_1^m S_1(n-i, m) C_m(w_2 - 1) \right\} \frac{\varepsilon^{n-i} t^n}{n!}.
\end{aligned} \tag{3.5}$$

By comparing the coefficients on the both sides of (3.4) and (3.5), we obtained the Theorem 2.1.

Now, we consider

$$\begin{aligned}
\sum_{n=0}^{\infty} Ch_{n,\lambda,\varepsilon}(x) \frac{t^n}{n!} &= \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{(x+y)\lambda} d\mu_{-1}(y) = \frac{2}{(1 + \varepsilon t)^\lambda + 1} (1 + \varepsilon t)^{\lambda x} \\
&= \left(\sum_{l=0}^{\infty} Ch_{l,\lambda,\varepsilon} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} (\lambda x)_m \frac{\varepsilon^m t^m}{m!} \right) \\
&= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} Ch_{l,\lambda,\varepsilon} (\lambda x)_{n-l} \right) \frac{\varepsilon^{n-l} t^n}{n!}.
\end{aligned} \tag{3.6}$$

Thus, by (3.6), we get

$$Ch_{n,\lambda,\varepsilon}(x) = \sum_{l=0}^n \binom{n}{l} Ch_{l,\lambda,\varepsilon} (\lambda x)_{n-l} \varepsilon^{n-l}. \tag{3.7}$$

From (3.6) and (3.7), we proved the Theorem 2.2 and Theorem 2.3.

From (3.2), we get that

$$\begin{aligned}
I &= \left(\frac{(1 + \varepsilon t)^{w_1 w_2 x}}{2} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 x_1} d\mu_{-1}(x_1) \right) \left(\frac{2 \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2 x_2} d\mu_{-1}(x_2)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 w_2 x} d\mu_{-1}(x)} \right) \\
&= \left(\frac{(1 + \varepsilon t)^{w_1 w_2 x}}{2} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 x_1} d\mu_{-1}(x_1) \right) \left(2 \sum_{l=0}^{w_1-1} (-1)^l (1 + \varepsilon t)^{w_2 l} \right) \\
&= \sum_{l=0}^{w_1-1} (-1)^l \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 x_1 + w_1 w_2 x + w_2 l} d\mu_{-1}(x_1) \\
&= \sum_{l=0}^{w_1-1} (-1)^l \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1(x_1 + w_2 x + \frac{w_2 l}{w_1})} d\mu_{-1}(x_1) \\
&= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{w_1-1} (-1)^l Ch_{n,w_1,\varepsilon}(w_2 x + \frac{w_2 l}{w_1}) \right) \frac{t^n}{n!}.
\end{aligned} \tag{3.8}$$

On the other hand, by (3.2), we get

$$\begin{aligned}
I &= \left(\frac{(1 + \varepsilon t)^{w_1 w_2 x}}{2} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2 x_2} d\mu_{-1}(x_2) \right) \left(\frac{2 \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 x_1} d\mu_{-1}(x_1)}{\int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_1 w_2 x} d\mu_{-1}(x)} \right) \\
&= \left(\frac{(1 + \varepsilon t)^{w_1 w_2 x}}{2} \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2 x_2} d\mu_{-1}(x_2) \right) \left(2 \sum_{l=0}^{w_2-1} (-1)^l (1 + \varepsilon t)^{w_1 l} \right) \\
&= \sum_{l=0}^{w_2-1} (-1)^l \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2 x_2 + w_1 w_2 x + w_1 l} d\mu_{-1}(x_2) \\
&= \sum_{l=0}^{w_2-1} (-1)^l \int_{\mathbb{Z}_p} (1 + \varepsilon t)^{w_2(x_2 + w_1 x + \frac{w_1 l}{w_2})} d\mu_{-1}(x_2) \\
&= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{w_2-1} (-1)^l Ch_{n, w_2, \varepsilon}(w_1 x + \frac{w_1 l}{w_2}) \right) \frac{t^n}{n!}.
\end{aligned} \tag{3.9}$$

Thus, by comparing the coefficients on the both sides of (3.8) and (3.9), we can obtain the Theorem 2.4.

From (1.12), we consider that

$$Ch_{n, w_1, \varepsilon}(w_2 x + \frac{w_2}{w_1} l) = \sum_{k=0}^n S_1(n, k) w_1^k E_k(w_2 x + \frac{w_2}{w_1} l), \quad (n \geq 0), \tag{3.10}$$

and

$$Ch_{n, w_2, \varepsilon}(w_1 x + \frac{w_1}{w_2} l) = \sum_{k=0}^n S_1(n, k) w_2^k E_k(w_1 x + \frac{w_1}{w_2} l), \quad (n \geq 0). \tag{3.11}$$

By (3.10) and (3.11), we proved the Theorem 2.5.

Remark 3.1. Note that several authors have studied for the symmetric identities related to special polynomials in the several areas (see [1,2,3,7,9,16,18]).

References

- [1] J. Choi, D. S. Kim, T. Kim and Y. H. Kim, *Some arithmetic identities on Bernoulli and Euler numbers arising from the p -adic integrals on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. **22** (2012) 239–247.
- [2] D. Ding, J. Yang, *Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math. **20** (2010), no. 1, 7–21.

- [3] D.V. Dolgy, T. Kim, J.J. Seo, *Symmetry identities for Changhee polynomials arising from the fermionic p -adic integral on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. **26** (2016), no. 2, 291–298.
- [4] L. -C. Jang, C. S. Ryoo, J. J. Seo, H. I. Kwon, *Some properties of the twisted Changhee polynomials and their zeros*, Appl. Math. Comput. **274** (2016), 169–177.
- [5] T. Kim, *A note on p -adic q -integral on \mathbb{Z}_p associated with q -Euler numbers*, Adv. Stud. Contemp. Math. **15** (2007), no. 2, 133–137.
- [6] T. Kim, *Note on the Euler numbers and polynomials*, Adv. Stud. Contemp. Math. **17** (2008), no. 2, 131–136.
- [7] T. Kim, *Symmetry of power sum polynomials and multivariate fermionic p -adic invariant integral on \mathbb{Z}_p* Russ. J. Math. Phys. **16** (2009), no. 1, 93–96.
- [8] T. Kim, *A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. **23** (2013), no. 1, 5–11.
- [9] D. S. Kim, T. Kim, *Some identities of Bernoulli and Euler polynomials arising from umbral calculus*, Adv. Stud. Contemp. Math. **23** (2013), no. 1, 159–171.
- [10] T. Kim, D. S. Kim, D. V. Dolgy, *Degenerate q -Euler polynomials*, Adv. Difference Equ. 2015, 2015:246. 11 pp.
- [11] T. Kim, B. Lee, J. Choi, Y. H. Kim, S. H. Rim, *On the q -Euler numbers and weighted q -Bernstein polynomials*, Adv. Stud. Contemp. Math. **21** (2011), no. 1, 13–18.
- [12] T. Kim, T. Mansour, S. -H. Rim, D. S. Kim, *A Note on q -Changhee Polynomials and Numbers*, Adv. Studies Theor. Phys. **8** (2014), no. 1, 35–41.
- [13] H. I. Kwon, T. Kim, J. J. Seo, *A note on degenerate Changhee numbers and polynomials*, Proc. Jangjeon Math. Soc. **18** (2015), no. 3, 295–305.
- [14] J.-W. Park, *on the twisted q -Changhee polynomials of higher order*, J. Comput. Anal. Appl. **20** (2016), no. 1, 424–531.
- [15] S.-H. Rim, J.-W. Park, S.-S. Pyo, J.K. Kwon, *The n -th twisted Changhee polynomials and numbers*, Bull. Korean Math. Soc. **52** (2015), no. 3, 741–749.
- [16] C. S. Ryoo, *Some identities of the twisted q -Euler numbers and polynomials associated with q -Bernstein polynomials*, Proc. Jangjeon. Math. Soc. **14** (2011), no. 2, 239–248.
- [17] G.Y. Sohn, J.K. Kwon, *A note on twisted Changhee polynomials and numbers with weight*, Appl. Math. Sci. **9** (2015), no. 31, 1517–1525.
- [18] N. L. Wang, H. Li, *Some identities on the Higher-order Daehee and Changhee Numbers*, Pure and Applied Mathematics Journal **4** (2015), Issue 5-1, 33–37.